
 
 

This paper contains Grammar items that are listed in the mid-term 

specification (as shown below), apart from the ones marked as “EXTRA” – 

these are useful to know, so have been included. All of the Grammar items 

below are in addition to the Q: Skills books you have studied so far. 
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Word forms: nouns and verbs 
 

 

Verbs + infinitives (like, want, need) /  

Noun phrases + infinitives 

 

 

 



 

 

Writing compound sentences with but and so 

 

 



Word roots: lone, fac, migra, nat, pop 



Simple past with regular and irregular verbs / 

Negative forms of the simple past 

 

 



Modifying nouns 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Sentences with because 

 

 

Parts of speech: noun, verb, adjective, adverb 

 



Sentences with when 

 

 

 

The prefix un- 

 

 

 

 



 

 

 

 

 

 

 

 

Prepositions of location: in, an, on 



 

Simple present / Simple present statements with 

regular verbs / Simple present statements with be / 

Simple present statements with have  

 

 

 

 

 

 

 

 

 



Simple past 



 

 

 

 

 

 

 

 

 

Should and Shouldn’t 

  



It’s + adjective + infinitive 

 

Suffixes: -ful and -ing 

  



  



Be going to / Be going to statements / 

Be going to questions 

  



 

  



 

Simple present for informal narratives 

  



 

 

 

Gerunds as subjects and objects 



 

 



 



 



 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 



 

 

 

 

 

 

 

 

 

 



 

  

 

 



  

 

 

 



 

 

 

 



 

 

  

 

  

 

 

 

 

 

 

 

 

 



  



Grammar Sample Questions 
from Exam Specification Paper – Science/Medical 

 

1. Sarah doesn’t like coffee; she usually ________ tea. 
 
A  drinks 
B  drink 
C  drinking 
D  to drink 
 
Why? The first part of the sentence has ‘doesn’t, so we say ‘like’ and not ‘likes’. However, the 
second part of the sentence is present simple, so we say ‘she likes’. The word ‘usually’ shows 
how often she does this action/routine. 
 
 

2. Where does he  ________ ? 
 
A  to live 
B  lives 
C  living 
D  live 
 
Why? The question includes the word ‘does’, so the main verb is always the ‘base form’ without 
‘s’ for everyone, so the answer is ‘live’. 
For example: Where do I live? Where do you live? Where does he/she live? Where do we live? 
Where do they live? Where does it live? 
 
 

3.  “Are they students?” 
“Yes,  ___________.” 
 
A  they are 
B  are they 
C  he is 
D  we are 
 
Why? The question is asking ‘are they’ so we respond with the same verb and pronoun ‘they 
are’, which is also plural. ‘There is’ is singular, and therefore the wrong answer. 
 
 

4. “Whose watch is this?” 
“It’s  ________.” 
 
A  your 
B  mine 
C  me 
D  you 
 
Why? Because we are asking who the watch belongs to. These are called possessive pronouns: 

http://learnenglish.britishcouncil.org/en/english-grammar/verbs


     Mine 
     Yours 
     His 
     Hers 
     Ours 
     Theirs 
The only possessive pronoun in the question is ‘mine’ and therefore this is the answer. 
 
 

5. There ___________  a bookshop in our neighbourhood. 
 
A  is 
B  are 
C  were 
D  are no 
 
Why? Because ‘bookshop’ is singular (‘a’ means there is one), so we say ‘is’ which is used for 
singular nouns. ‘Are’ is used for plural nouns. ‘Were’ is wrong because it’s the past tense of ‘are’ 
which is also plural. ‘are no’ is wrong because ‘are’ is for plural and also, with negatives we need 
the word ‘any’, so it should say ‘there aren’t any bookshops’. Therefore, the answer is A. 
 
 

6. You shouldn’t  ___________  too much junk food; it’s bad for your health. 
 
A  eating 
B  eats 
C  to eat 
D  eat 
 
Why? ‘Should’ is a modal verb. Verbs that follow modal verbs are always in ‘base form’ without 
‘s’ 
For example: You should go home; I shouldn’t talk to him; He shouldn’t sleep now; She should 
say sorry; We should walk home; They shouldn’t believe him; It should work for one hour 
 
 

7. He  ___________  travel to Dubai in the vacation. 
 
A  is going 
B  are going to 
C  is going to 
D  are going 
 
Why? This is a future tense – ‘going to’. We use ‘am’ for I, and ‘are’ for You, We, and They. We 
use ‘is’ for He, She and It. With the tense ‘going to’ we need the word ‘to’, because the structure 
is: 

I, You, He/She/It, We, They  +  am/are/is  +  going to  +  sleep/eat/play (infinitive) 
 
This is why the answer is ‘He is going to travel’. 
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8. ___________  bag is brown. 
 
A  Sarah is 
B  Sarah 
C  Sarah’s 
D  Sarah has 
 
Why? This is called ‘possessive ‘s’ The bag belongs to Sarah, and when we want to show that 
something belongs to somebody or something, we usually add ‘s to singular nouns and add an 
apostrophe ‘ to a plural noun, for example:  

 The boy’s ball (one boy) 

 The boys’ ball (two or more boys) 
 
See more: http://www.englishclub.com/grammar/nouns-possessive.htm  

 
 

9. Please ___________!  I’m trying to sleep. 
 
A  don’t shout 
B  doesn’t shout 
C  not shout 
D  can’t shout 
 
Why? Because the person who is speaking is talking to another person or a group and asking 
them to do something. ‘Doesn’t’ is only used for ‘he/she/it’ which are in the ‘third person’, but 
the person who is speaking is talking to a person or group directly (in front of them), which is 
known as talking in the ‘second person’.  We know this because they said ‘I’m trying to sleep’. 
 
 

10. My friend bought ___________ lunch today. 
 
A  he 
B  I 
C  we 
D  me 
 
Why? Because the sentence starts with ‘my’ which is a possessive adjective (we use possessive 
adjectives to show who owns or ‘possesses’ something). These are: 
     My 
     Your 
     His 
     Her  
     Our 
     Their  
     Its  
Now we need to know ‘who’ their friend (‘subject’, meaning the person who ‘did’ the verb) 
bought lunch for. This is called the ‘object’. Object pronouns are: 
     Me, You, Him, Her, Us, Them, It 
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Vocabulary Sample Questions 
from Exam Specification Paper – Science/Medical 

 

1. I don’t think I’m  ________ enough to climb that mountain. 
 
A  flat 
B  tall 
C  kind 
D  fit 
 
Why? If you want to climb a mountain, which takes a lot of energy, you need to be healthy. The 
only word which is similar to being healthy is ‘fit’. 
 
 

2. I want  ________ flight from Riyadh to Dubai, please. 
 
A  an international 
B  a national 
C  a local 
D  an internal 
 
Why? Riyadh is in Saudi Arabia, and Dubai is in the United Arab Emirates. These are two 
different countries, so we call this ‘international’. We say ‘an’ because ‘flight’ is a singular noun 
and the word ‘international’ begins with a vowel letter. All of the other answers are used when 
travelling within the same country you are in. 
 
 

3. She’s a very  ________ person. Everyone likes her. 
 
A  angry 
B  annoying 
C  lonely 
D  pleasant 
 
Why? The second part of the second says ‘everyone likes her’ so we know the answer will be a 
nice adjective. ‘Angry’, ‘annoying’ and ‘lonely’ are all negative parts of a character, so we know 
the answer must be ‘pleasant’ which means ‘nice’ as it’s the only positive answer. 
 
 

4. My watch is broken. Can you  ________ it for me? 
 
A  repair 
B  repeat 
C  relate 
D  borrow 
 
Why? ‘Repair’ means ‘to fix’. All of the other words mean something else. 
 
 



5. Someone who is in charge of a business or department 
 
A  a customer 
B  a client 
C  a secretary 
D  a manager 
 
Why? A ‘customer’ and a ‘client’ are people who use the business or department if they need 
something. A ‘secretary’ and ‘a manager’ work in the business or department. However, a 
‘manager’ is responsible (meaning ‘in charge of’) and therefore this is the answer.  
 
 

6. Special clothes that are worn by members of a group or team 
 
A  uniform 
B  suit 
C  trousers 
D  shoes 
 
Why? ‘Uniform’ is what people have to wear at work or school and usually everybody wears the 
same thing; it’s like a rule. For example, all students at KSU PY must wear a skirt – because this 
is the ‘uniform’ of KSU. The other answers (suit, trousers, and shoes) are just types of clothes 
and part of a uniform. 
 
 

7. The library was  ________ today. There was nowhere to sit. 
 
A  clean 
B  empty 
C  crowded 
D  quiet 

 
Why? The second part of the sentence says ‘there was nowhere to sit’ which means there was 
no space, so we need to see which answer could tell us why there was no space. The only one 
that tells us this is ‘crowded’ (‘zahma’) and therefore this is the answer.  

 
 
8. Look at the sky. It’s so ________  , I think it’s going to rain.  

 
A  sunny 
B  cloudy 
C  bright 
D  blue 

 
Why? The second part of the sentence says ‘I think it’s going to rain’, and we know when this 
happens, the sky is usually dark and ‘cloudy’ and therefore this is the answer. All the other 
answers are for when the weather is hot and dry. 

 
 
 
 



9. An area of land that has water on all sides  
 
A  a continent 
B  a lake 
C  an island 
D  a country 
 
Why? A ‘continent’ is an area like ‘North America’, ‘Asia’, ‘Europe’, ‘South America’, and 
‘Australasia’. Many countries are in one continent. A ‘lake’ is an area of water with land on all 
sides. A ‘country’ can border with another country and have no water on all sides. An ‘island’ is 
an area of land that has water on all sides, such as ‘Japan’, and ‘Hawaii’ and therefore this is the 
answer.  

 
 
10. Fatima’s father worked as a doctor for 40 years. He ________ six months ago, so he’s not 

working any more.    
 
A  released 
B  removed 
C  retired 
D  relied 

 
Why? The question tells us that he’s not working anymore (past simple). We can see the word 
‘so’ which tells us a consequence, for example, something happened, so he’s not working 
anymore. The only one that tells us why, is ‘retired’, which means he has finished working, and 
therefore this is the answer. All of the other answers mean something different.  

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



ANSWERS: Sample Reading Passage 
20 multiple choice questions (2 reading passages with 10 questions 

each) 
 

 

 
 

1. What happened in the 1930s? 
A. Banana smoothies were first made. 
B. Banana smoothies became very popular. 
C. Banana smoothies were made all over the world. 
D. Banana smoothies were found to have nutrients. 

 
Answer in Paragraph 1: “Banana smoothies first appeared in the 1930s” 
 
 
2. How many calories does a banana have? 

A. 100 calories in a large banana 
B. 100 calories in a small banana 
C. 100 calories in a medium banana 
D. 100 calories in any banana 



Answer in Paragraph 4: “Bananas are a low-calorie food; there are about 100 calories in a medium 
sized banana.” 
 
 
3. Which of the following is NOT true of bananas? 

A. They are good for your heart. 
B. They are good for your digestive system. 
C. They can help you lose weight. 
D. They can cause stomach ulcers. 

 
Answer in Paragraphs 3 and 4 (there are many good things about eating bananas) 
 
 
4. Banana smoothies should NOT be mixed with _____________. 

A. apples 
B. sugar 
C. Mangoes 
D. yogurt 

 
Answer in Paragraphs 4: “But make sure you don’t put sugar in your smoothie. Bananas are sweet 
enough!” 
 
 
5. In paragraph 1, what does the word 'function' mean? 

A. work properly 
B. play 
C. be popular 
D. appear 

 
 
6. In paragraph 4, what does the word 'beneficial' mean? 

A. Low-calorie 
B. Sweet 
C. helpful 
D. Full 

 
Answer: ‘Beneficial’ comes from the verb ‘to benefit’; this means to help something 
 
 
7. What does the underlined word 'it' in paragraph 3 refer to? 

A. Wonderful fruit 
B. Banana 
C. Stroke 
D. Blood pressure 

 
8. Which of these titles is best for this passage? 

A. Smoothies: An Alternative to Food 
B. How To Prepare Apple Smoothies 
C. Have a Banana Smoothie 
D. 101 Banana Recipes 



ANSWERS: Sample Listening Passage 
20 multiple choice questions (2 listening scripts with 10 questions each) 

 

 

 
 

 

 

 



1. The man is calling the hotel _______________. 
A. to make a reservation 
B. to cancel a reservation 
C. to speak to a guest 
D. to make a complaint 

 
Answer: “Hello, I’d like to book a room.” 
 
 
2. The hotel is located in _______________. 

A. Riyadh 
B. Jeddah 
C. Taif 
D. Abha 

 
Answer: “Well, my flight from Riyadh arrives in Jeddah on January 10th and I will be staying for...” 
 
 
3. How long will the man stay in the hotel? 

A. One night 
B. Two nights 
C. Three nights 
D. Four nights 

 
Answer: “yes, I’ll be in Jeddah for three nights before leaving…” 
 
 
4. When will the man check out of the hotel? 

A. January 10th 
B. January 12th 
C. January 13th 
D. January 30th 

 
Answer: “The check-out date will be January 13th” 
 
 
5. Why is the man travelling? 

A. He is visiting his family. 
B. He is meeting friends. 
C. He is a tourist. 
D. He is doing business. 

 
Answer: “Yes, I will be in Jeddah to meet with some clients.” 



Verb patterns 

 


